20184F BXHRERT-AC—F AN EFHFATILR)
66F L EFB X T IVA
1R 2R 3R

Seed name QF SF
1 1 EH BE—H RET=ZRIST
L3 E U RR—ILTFZRYST st A/ W AT
2 bye
bye B3 A/ L AR
3 BiE r= HEMRT =I5 (MIT) 6260
i SR WhERRTFZXO—MMIT) @i %2/ #% 856
4 %*E ﬁ:@ DTTC 76(4), 46, 11-9
HE B Q)= Bt A/ W AT
5 HAd A BHEIAVESRTFZRYST 63.63
#!mAR & BHELAA(VEVRTZRIST  |E% B/ 8K &8
6 bye
bye B L/ $HK EE
” bye 61,60
bye Hh £ / {&KE EA
8 Ho i BHR=
&H IEA BHR= SR HE /T BB
9 A EE BAT=R957 36.63.10-5
EH = BAT=RY5T A3 BN / HE 2
10 bye
bye A3 BRE /HEE E
11 bye 36, 76(4), 10-6
bye HE RIT / JH 2
12 HE RIT BRIT=RU57
JeH ZBA BRIT=RU57 B HE /B A
13 ZH E8 REA—VT=R957 61.75
A X BHRE EE =4/ B FIX
14 ik AMT=—RY5T o4, 04
mEE B EHESA(VYEVRTZRYST R B / B K
15 bye 61,62
bye WE HE /R 58
16 KR FBE BEETO—>7T=X957 A
R FHA BEETO—>7T=X957 TR HE /T B
17 3~4 BHZEHER BHR= 76(5) , 64
AH FIE HEET A& B MR/ AE RIE
18 bye
bye HE SUER / AH ME
19 A FER BHR= 62,60
s A ELTRET=RIST H B/ &K T
20 B e BRAMENET=RI5T 64,63
K tht BRAMENET=RI5T B R/ AE RIE
21 T R— BAMEN 6T =257/ INEF=RH5T 63, 76(2)
SHEZ 21)— M R— /9 %=
22 bye
bye R & /it HEk
23 bye 63, 62
bye R &/ it HEk
24 X wA Y.S.C.(#ERAR—YIH5T)
Rt EX SHESAVEUR WO LR / AE FIE
25 SRR FNE BRAMENET=RI5T 61, 61
INFK BRER Y AYGTC SRR FOE / /A 913
26 bye
bye TRIE FIE / VK A
27 bye 63,36, 10-8
bye BB ER /ER Bk
28 EiE ER TTHAER
[LAEKESS TTHHER B3 1518 / M
29 A 1515 MIT 62,60
hnEk oh T L B3 515 / M
30 NI = HAEO— T XERE o163
HE EIE By T RR—YI5TE B3 515 / M F
31 bye o1.64 WINNER
bye T KA /R R AnEnE/FEEe HREE/ 358
32 WE kB RRERA—2T=R957 BRE& /A" [26,64,11-9
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20184F BXHRERT-AC—F AN EFHFATILR)
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Seed name QF SF
33 INFR HER HAET=RA957
RS LU F04= hlUTF=x957 IR AEE / B A
34 bye
bye INH 23K / Bl S
35 e —xk BRAMENET=RI5T 57.,76(4), 10-4
Z) BB EEFLET=RIFT e —% / R BB
36 =AM FER BHR= 04,60
F2 I NE BEO— T _REEE INHR AR / B A
37 R B AR BAET=2957 76(5). 75
)l ER HET=X9357 HRAHS / I A
38 bye
bye WA/ Rl EA
39 bye 75,63
bye BEIB H18 / B8R R
40 BEIS & 1F BRAMENET=RI5T
=ik R BAMENGET=RAI5T HAR AN/ B BE—E
41 2 EE BRAMENET=RI5T 63.75
W m— IFIRR—YISTHIUT R |l e / oo 25—
42 bye
bye B3t B / IR A
43 bye 60. 60
bye B3 B /R R
44 A E METo—>7=X957
Ml & & BEETO—>T7T=RX957 AR A/ B B— A
45 MR A RRERA—VT=R957 o1.63
FI BFE BHRE A =/ BERFD
46 BA S BRAMENET=RI5T 63,36,10-5
BER FB BAMENGET=RAI5T AR A/ B B— A
47 bye 60. 61
bye AR A/ =M B0
48 3~4 WE A BHRE B
EH fE—HB HET=X9357 RO/ 442
49 KiE # % BRAMENET=RI5T 76(0) , 63
Kig B BRAMENIET=RIT5T  |xi&E#x/ ki #E8
50 bye
bye EHABE/ AR E—
51 #®E EX BHR= 62,75
HO & RET=—RY3T EHAD /BB E—
52 EH AR RRO—VT=R957 64,762
2E E— HRA—VTZRI57T EHAD /AR E—
53 1 EBA BRAMENET=RI5T 61,60
ik U2 BAMBENET—XYT7 @ B8/ kK XE
54 bye
bye 1 BB/ kR XE
55 bye 63, 61
bye AN #B% /LA B
56 NI 1515 T—RI7LXHBTH
A BE BER=——T=X95J0B% R 8/ ke
57 ZH i BmED— T REZRE 62. 61
=g fE BEEHON)—T=RHUST  |2@E 5/ E5ENE
58 bye
bye EH /S8 ME
59 bye 60, 62
bye )| M / B EE
60 )il 5Bh3E HAET—REHE
B Ex HET=X{EEE KM &/ itk e
61 KE EZ REHn—7=-29357 60, 61
f&H RE KBHO—T7=X937 O R /AR EA
62 O EE EFFETOBS 75, 61
FARE TE 3 HFIETIOBS KM &/ ik e
63 bye 60, 61
bye RE &/ A2
64 2 HHE& BHRE
K = TEET=X9357



